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Question Number : 1 Question Id : 413781301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Charge on one electron is:

Options:
1 % 2.3 x 10" coulomb

o o 1.6 > 1071 coulomb

= % 4.6 x 10! coulomb

4 % 1.1 % 10" coulomb

Question Number : 1 Question Id : 413781301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Question Number : 2 Question Id : 413781302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

In a particular circuit, a charge of 10 coulomb is passed in 200 milliseconds. The current flow in the circuit is:

Options:
1w 50A

> % 100 A
2 % 200 A

4 % 20A

Question Number : 2 Question Id : 413781302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Options:

. v 50 A



, = 100 A
- % 200 A

L% 20 A

Question Number : 3 Question Id : 413781303 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

The value of a resistor that has three red rings marked on it is:

Options:
1 % 333 ohms

®

- % 3.33 Kilo ohms
= « 2.22 Kilo ohms

22.22 Kilo ohms

o=
®

Question Number : 3 Question Id : 413781303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Question Number : 4 Question Id : 413781304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

10 resistance of one ohm each are connected in series and then connected to 10 V DC supply. If one of the resistance
gets open, current in the circuit is:

Options:
1 ® 1A

2% 0.1A

4« 0.0A



Question Number : 4 Question Id : 413781304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Options:

1 % 1 A
. % 10/9 A
=% 0.1 A

.« 00 A

Question Number : 5 Question Id : 413781305 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

A DPDT switch has how many number of terminals for connection?
Options:
1 ® 4

Question Number : 5 Question Id : 413781305 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Question Number : 6 Question Id : 413781306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

In an R-L parallel circuit. if Ip is the current through pure resistor and Iy is the current through pure inductor, then phase
relation between Ir and I is:

Options:



; s 0 degrees

> % 45 degrees
5 o 90 degrees

4 % 180 degrees

Question Number : 6 Question Id : 413781306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Question Number : 7 Question Id : 413781307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Form factor of a pure sinusoidal waveform is:

Options:
e |

> % 1414
5 % 0.707

4 % 3.1415

Question Number : 7 Question Id : 413781307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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4 % 3.1415

Question Number : 8 Question Id : 413781308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Percentage loss in an ideal transformer is:
Options:

1 ® 10%

-~ % 50%

5 % 100%

4 & 0%

Question Number : 8 Question Id : 413781308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Question Number : 9 Question Id : 413781309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

In which of the following circuit can resonance occur?
Options:

1 # R-L series

> o BRL-C parallel

=z % R-C series

4 % R-L parallel

Question Number : 9 Question Id : 413781309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Question Number : 10 Question Id : 413781310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Moving iron instrument can be used for the measurement of:
Options:
, w only AC current

> « AC as well as DC current

5 % only DC current

4 % only heat

Question Number : 10 Question Id : 413781310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 11 Question Id : 413781311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If a conductor cuts 2 webers of flux in 2 seconds and has 50 turns. then emf induced in the conductor is:

Options:
1 ® 200V



Question Number : 11 Question Id : 413781311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

L% 200V

@ 50 V
2 = 100 V

L % 250 V

Question Number : 12 Question Id : 413781312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fleming’s left hand rule gives the relation between:
Options:

, % Voltage current and resistance

» % Voltage current and power

- « direction of force, direction of current and direction of flux

, % direction of power, direction of current and direction of voltage

Question Number : 12 Question Id : 413781312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 13 Question Id : 413781313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

B-H curve is a plot of:
Options:
w Vvoltage and current

1
1 ] T lll H
-  magnetic flux density and ampere turns/min

- % current and magnetic flux

4 % MMF and reluctance

Question Number : 13 Question Id : 413781313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 14 Question Id : 413781314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Admittance is a reciprocal of:
Options:
1 % inductance

- % resistance
% capacitor

2

4  impedance

Question Number : 14 Question Id : 413781314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 15 Question Id : 413781315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In an AC circuit, there are three branches connected to a node. Branch 1 carries a current of 10L_0° A and Branch 2
carries a current of 101 90° A, Calculate the current in the third branch.

Options:
;% 10L0°A
5 % 20L0°A

2 % 20L90°A

4« 14141 45° A

Question Number : 15 Question Id : 413781315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

, % 10L0° A
5 x 20L0° A
; % 200.90° A

L 14.14145° A

Question Number : 16 Question Id : 413781316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following meter is used in integrating type instrument?
Options:
1 % Voltmeter



-~ % Ammeter
-  Energy meter

4 % Power meter

Question Number : 16 Question Id : 413781316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 17 Question Id : 413781317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Principle of the working of a transformer is based on which of the following laws?
Options:

, « Faraday’slaw

> % Ohm’s law

5 % Kirchhoff’s law

4 » Fleming’s rule

Question Number : 17 Question Id : 413781317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 18 Question Id : 413781318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A transformer has 200 turns on primary side and 20 turns on secondary side. If we apply 200 V DC on its primary side.
then voltage at the secondary is:

Options:
1 ® 200V
5 % 20V

z o OV

4 % 100V

Question Number : 18 Question Id : 413781318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

{ % 200 V
> % 20V
3¢ 0V

4 % 100V

Question Number : 19 Question Id : 413781319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Approximate value of armature winding resistance for a 5 kW DC machine is:

Options:
1 « 0.15 ohms
> % 15 ohms

= % 100 ohms

4 % 1 Kilo ohms

Question Number : 19 Question Id : 413781319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

. v 0.15 3=
- = 100 307

4 % 1 TFar 3\

Question Number : 20 Question Id : 413781320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An SCR has:
Options:
, = 3 layers and 2 junctions

> 4 layers and 3 junctions

- » 3 layers and 4 junctions

4 % 2layers and 2 junctions

Question Number : 20 Question Id : 413781320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 21 Question Id : 413781321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following device is used as a relaxation oscillator?

Options:
, % JFET

> % BIT



3¢ UIT

4 % Diode

Question Number : 21 Question Id : 413781321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 22 Question Id : 413781322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Theoretical maximum efficiency of a single stage class A power amplifier is:

Options:
1 % 100%

> % 50%
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Question Number : 22 Question Id : 413781322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

% 100%

, % 50%
. % 75%

L v 25%

Question Number : 23 Question Id : 413781323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which of the following multi vibrator is used as an oscillator without using triggering?

Options:
Bistable

®

i,

&,

- « Astable
= % Monostable

Stable

o
®

Question Number : 23 Question Id : 413781323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 24 Question Id : 413781324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An RL series circuit has B = 10 ohms and L = 0.1H. The time constant of this circuit is:
Options:
1 + 10 milliseconds

> % 100 milliseconds
= % 100 seconds

4 % 1 second

Question Number : 24 Question Id : 413781324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 25 Question Id : 413781325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The force experienced by a current carrying conductor of length L and lying parallel to a magnetic field having flux
density B is:

Options:
1 % BIL

> % BIL sin©
T B HIL

4.+ 0

Question Number : 25 Question Id : 413781325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation: Vertical
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z % HIL

s v T

Question Number : 26 Question Id : 413781326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Relative permeability of vacuum is:
Options:
1 % 4 x1077 H/m

> % 1Hm
3¢ 1

4 = 1/4m Hm



Question Number : 26 Question Id : 413781326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:
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Question Number : 27 Question Id : 413781327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following component is not an essential part of UPS?

Options:
| % Battery

- % Inverter
z % Rectifier

4 « Multivibrator

Question Number : 27 Question Id : 413781327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 28 Question Id : 413781328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Sulphation in a lead acid battery occurs due to which of the following reasons?

Options:



, = [Irickle charging

-  Incomplete charging
- » Heavy discharging

, » Fastcharging

Question Number : 28 Question Id : 413781328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 29 Question Id : 413781329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Active material of a lead acid cell is:
Options:
| « Sponge lead

- % semiconductor
3 # resistance

4 % Wrought iron

Question Number : 29 Question Id : 413781329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 30 Question Id : 413781330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The sediment that accumulates at the bottom of lead acid battery, largely consists of:
Options:
, w lead peroxide

- % lead sulphate
-  antimony lead alloy

4 % graphite

Question Number : 30 Question Id : 413781330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

Question Number : 31 Question Id : 413781331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the percentage increase in a current required in a coil so that energy stored in the coil becomes doubled?
Options:
1 % 100%

5 % 50%

3 v 41.4%
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Question Number : 31 Question Id : 413781331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

% 100%

., % 50%

- v 41.4%

4 % 25%

Question Number : 32 Question Id : 413781332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Materials used for making permanent magnet must have retentivity and coercivity.
Options:

, « high high

> % high, low

- % low. high

4 % low, low

Question Number : 32 Question Id : 413781332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 33 Question Id : 413781333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In an inductive coil, the rate of change of current is maximum:

Options:



after one time constant

,_.
u

> « at the start of current flow
- % near final maximum value of current

4 % at36.8% of its maximum steady state value

Question Number : 33 Question Id : 413781333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 34 Question Id : 413781334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following meter type is suitable only for direct current measurement?

Options:
, % Moving iron type

-  Moving coil type
- » Electrodynamometer type

4 % Hot wire instrument

Question Number : 34 Question Id : 413781334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 35 Question Id : 413781335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A current transformer has single turn primary and 200 turns secondary winding. It is used for measurement of AC
current by connecting an ammeter of 5 Amp. (Full scale deflection). What is the maximum value of the primary current
that can be measured with this arrangement?

Options:
1« 1000 A

> % 5000 A
s % 40 A

4 % 200 A

Question Number : 35 Question Id : 413781335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T UNT AW H UFa-aa4 (I4) F argffs asE v 200 999 Fr ciades aERw d w5
UFER & TAET & SEe TEr O A & T s R ST g (90T whe feon) s§ saeen
IR TTUfHe R # fRaer 3Read A AT S HeRar 22

Options:

, » 1000 A
, % 5000 A
2 % 40 A

. % 200 A

Question Number : 36 Question Id : 413781336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following type of instruments has reading independent of the type of waveform and frequency of
measured quantity?

Options:
, % Moving iron

> « Hot wire

z % Induction



4 % Electrostatic

Question Number : 36 Question Id : 413781336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

fr=fofEa 7 8 fFF gor & 73 &1 AT =1 7 F yowr AR #@1fT amr & smica &
AT g 82
Options:

| ® TA-AIE

5 o ?!T-‘F-Fl'lT
z K gTUT
= FPa-dega

Question Number : 37 Question Id : 413781337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A sinusoidal voltage is given by 200 sin{mt—7/3) . What is the average value of the voltage?
Options:

1o 12732V

> % 100V

s % 250V

4 % 314.14V

Question Number : 37 Question Id : 413781337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

L@ 127.32 V

, % 100 V

- % 250 V

L% 31414 V

Question Number : 38 Question Id : 413781338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In a three-phase system for delta connection. the phasor relation between line current Iy and the corresponding phase
current Ly, is:

Options:

, % It leads Iy by 30°

& I lags Ipn by 30°

2 % I; is in phase with Iy,

L% I; leads I by 90°

Question Number : 38 Question Id : 413781338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

3521 e & T e B T UF Ees A, aa 9w || 3R §Aged B 9 gy & 8= e e

Options:

w1 & 30° 37T B B

5 o I lpn & 30° T2 BT B

_a ln, & TTT A F T gl

4 % ILlon & 90° 3797 giar g

Question Number : 39 Question Id : 413781339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two wattmeters are connected to measure power in a three-phase system. Reading of one of the wattmeter is zero. Then
power factor of the three-phase load is:

Options:
1 ¥ ZEro

5 % Unity

2 o 0.5

4 % 0.707

Question Number : 39 Question Id : 413781339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

| % AT

o ® %lg

. # 0.707

Question Number : 40 Question Id : 413781340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For the same load. if the phase sequence of a three-phase supply changes, then:

Options:
, = magnitude of phase power is changed

> % magnitude of phase current is changed

-  Phase current changes by angle but not by magnitude

, » total power consumed will change

Question Number : 40 Question Id : 413781340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 41 Question Id : 413781341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a three-phase balanced star-connected load, connected to a three-phase, three-wire balanced supply of 400 V,
potential of the neutral point of load is: (with respect to ground)

Options:
1. ¢ 0V



5 % 400V
s % 230V

4 % 680V

Question Number : 41 Question Id : 413781341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T i B aTeT Tdfod TEN-FAes @IS H, A e $T i g Jrenr 400 V Fr @gfed eers § 3T
g3 21 3@ B H A1s & e f6g 1 faerd (ERTW) g (3R % Hew #)

Options:

., % 400 V
. % 230V

L % 680V

Question Number : 42 Question Id : 413781342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a three-phase system, power is measured by two wattmeter method. If the reading of the wattmeters are ~1000 W and
—1000 W, then which of the following is correct?

Options:
, « Power factor of load is zero and total power is zero

- w Power factor of load is one and total power is zero
5 » Power factor of load is zero and total power is 2000

4 w Power factor of load is one and total power is 2000

Question Number : 42 Question Id : 413781342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 43 Question Id : 413781343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In an R-L series circuit, if the harmonics in supply voltage are increased. then which of the following is correct?
Options:
1 % Current in the circuit remains same

- % Current in the circuit will increase
= « Current in the circuit will decrease

4, % Current in the circuit will be in phase with the supply voltage

Question Number : 43 Question Id : 413781343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 44 Question Id : 413781344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If a 220 V heater is connected to 110 V supply. then power consumed by it:
Options:
1 % will be the same

1/,

- % Wwill reduce by

2 « Will reduce to %4

4 % will be doubled
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Question Number : 45 Question Id : 413781345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A single-phase induction motor of 100 W is connected to 230 V AC. If its auxiliary winding is open at the start, then the
resultant torque on the rotor is:

Options:
1 & Z€I0

5 % maximum

Question Number : 45 Question Id : 413781345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Options:

s

o ® m
s % 0.5 N-m

. # 2.0 N-m

Question Number : 46 Question Id : 413781346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A three-phase induction motor is running at 1460 rpm when connected to 440 V three-phase, 50 Hz supply. The number
of poles of the motor are:

Options:



"
]
I~

Question Number : 46 Question Id : 413781346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 47 Question Id : 413781347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which of the following motor resistance is added in rotor circuit to change its speed?

Options:
, w Squirrel cage induction motor

-  Slip ring induction motor

5 » Single phase induction motor

4, % Synchronous motor

Question Number : 47 Question Id : 413781347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 48 Question Id : 413781348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Starters are used for starting of large three-phase induction motor:
Options:
, w toincrease its efficiency

- % to decrease losses in machine

-  todecrease supply current at start

, % tomaintain constant speed

Question Number : 48 Question Id : 413781348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 49 Question Id : 413781349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following action is done for changing the direction of rotation of DC shunt motor?

Options:

, = Supply voltage polarity is changed

> o Armature terminals are reversed

- » Resistance is added in series with field winding

4 % Supply voltage is reduced
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Question Number : 50 Question Id : 413781350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is not a part of the three-phase squirrel cage induction motor?

Options:
1 # Stator

-~ % Rotor
- u DBearings

4 + Commutator

Question Number : 50 Question Id : 413781350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 51 Question Id : 413781351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An alternator that has 2 poles supplying power at 50 Hz, then its synchronous speed will be:

Options:



| % 1000 rpm
2000 rpm
= 3000 rpm

1500 rpm

Question Number : 51 Question Id : 413781351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 52 Question Id : 413781352 Question Type: MCQ. Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A 100 KVA three-phase alternator is supplying power at 440 V and running at full load power. with 0.8 as the power
factor. Line current of the alternator is:

Options:
, % 100A

> o 164 A
s % 200 A

4 % 284 A
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. = 200 A

. % 284 A

Question Number : 53 Question Id : 413781353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

DC series motors are not to be used on no load. otherwise

Options:
, w speed will be same

o  Speed will be very high
s w Speed will be very low

, = efficiency will decrease
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 54 Question Id : 413781354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Insulation resistance of domestic appliances and wiring is generally measured by using:

Options:
1 % Voltmeter and ammeter

> % Multimeter
» Megger

=

4 % Energy meter
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Single Line Question Option : No Option Orientation : Vertical

e 390 AR AR & Regaed sforiy s Jit | raer 3T w5 AT S 82

Options:

3. v HIR

4 #® E‘I’Iﬁ?{

Question Number : 55 Question Id : 413781355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following three terminals used in domestic wiring?
Options:

, w Line, neutral and phase

> % Line, phase and ground

-  Line. neutral and earthing

4 » Phase, ground and earthing

Question Number : 55 Question Id : 413781355 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 56 Question Id : 413781356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When transistor is used as an amplifier. it is biased to work in:

Options:



active region
> % cutoffregion
- % saturation region

4 % completely ON state

Question Number : 56 Question Id : 413781356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 57 Question Id : 413781357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Typical value forward voltage across silicon P-N junction is:

Options:
L % 1.2V
5> % 23V

s % 03V

i 0TIV

Question Number : 57 Question Id : 413781357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

fafeera P-N e B F[eia are Fafeer deest &1 fafise A gem:

Options:

L8 A2 ¥

. % 23V



s % 03V

s 07V

Question Number : 58 Question Id : 413781358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

PIV rating of diode is:
Options:
, % Maximum voltage that can appear across it in forward biased

o  Maximum voltage that can appear across it in reverse biased

- » Maximum current that can pass through across it in forward biased

4 # Maximum current that can pass through it in reverse biased

Question Number : 58 Question Id : 413781358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 59 Question Id : 413781359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The emf induced in armature conductor of DC shunt generator is NOT dependent on which of the following factors?
Options:
, w» Number of conductors in armature winding

> % Speed of armature

- » Flux created by field winding

4  Resistance of armature winding
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Question Number : 60 Question Id : 413781360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Higher pulse converter is used in DC drive:
Options:
, « toreduce current ripples

> » to control speed smoothly
- u toincrease efficiency of DC motor

4 # to avoid short circuit

Question Number : 60 Question Id : 413781360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 61 Question Id : 413781361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An SCR can be turned off by reducing its forward current below:

Options:



, % latching current
-  holding current

% % anode current

4 # cathode current
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Question Number : 62 Question Id : 413781362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

JFET i1s a:
Options:
1 % current-controlled device

> of voltage-controlled device

5 » acomplementary device

4 # low input resistance device
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Single Line Question Option : No Option Orientation : Vertical

JATHSE TH gl

Options:

| % SRT-TATF0T 39RI0T

5  TeCHA-THTIUT ITFIOT



= % Hich SHehIVi

il FH FTAIC AT ITHOT

Question Number : 63 Question Id : 413781363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a chopper circuit, duty cycle is represented as:
Options:
; % Ton/Tof

>  Ton/(Ton+Tom)

= % Tos/Ton

4 % Tom/(Ton+Tom)

Question Number : 63 Question Id : 413781363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 64 Question Id : 413781364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a domestic electric iron, temperature is controlled by:
Options:
; % controlling current

-~ % controlling voltage
» using thermostat

3

4 » adding resistance in series with heating element
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Question Number : 65 Question Id : 413781365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the distance between the source of light and the receiving point of light is D, then illumination at the receiving point is
proportional to:

Options:
1 ® D

> % D’
= # 1/D

4 v 1D

Question Number : 65 Question Id : 413781365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 66 Question Id : 413781366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a R-L-C series circuit when the supply frequency is more than resonating frequency, then:



Options:
, w supply current leads the applied voltage

o « Supply current lags the applied voltage

- % supply current is in phase with the applied voltage

4 % supply current becomes zero

Question Number : 66 Question Id : 413781366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 67 Question Id : 413781367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is not essential protection to be used while doing work of domestic wiring?
Options:
, w Safety shoes

- u Hand gloves

5 Dark eve protective glass

4 % Insulated tools

Question Number : 67 Question Id : 413781367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 68 Question Id : 413781368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In domestic wiring, the fuse or switch is always inserted in:
Options:
| « series with the phase of supply

- » series with the neutral of supply
- % parallel with the phase of supply

4 » series with the earthing of supply

Question Number : 68 Question Id : 413781368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 69 Question Id : 413781369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following class of insulation has highest temperature withstand capability?

Options:
1 # Class A

- % Class H



=  Class C

4 % Class B

Question Number : 69 Question Id : 413781369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 70 Question Id : 413781370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Dielectric strength of pure air at normal temperature and pressure is:
Options:
1 ® 30V/cm

> « 30000 Viem
= # 30000 V/m

4 % 3000 V/em

Question Number : 70 Question Id : 413781370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

1 # 30 Viem

- « 30000 V/em
5 % 30000 V/m

., # 3000 V/em

Question Number : 71 Question Id : 413781371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which of the following single-phase motor has lowest starting torque?
Options:
, = Capacitor start induction motor

- % Capacitor start and capacitor run induction motor
- % Split phase induction motor

4 « Shaded pole induction motor
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Question Number : 72 Question Id : 413781372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An electromagnetic relay has three contacts named as C-NC-NO. Which of the following does
this nomenclature refer to?
Options:

; # Close, No close, No open

- % Close, Normal close. Normal open

o  Common, Normally closed, Normally open

4 » Common, No close, No open

Question Number : 72 Question Id : 413781372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 73 Question Id : 413781373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Differential protection is used in transformer to protect transformer in case of:
Options:
, « internal ground faults

- w temperature rise
- » gas formation

4, » failure of cooling system

Question Number : 73 Question Id : 413781373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 74 Question Id : 413781374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

As per IS, what is the voltage grading of the wire used for domestic wiring?

Options:
1 ® 230V

> % 440V



3 o 1100V

4 % 400V

Question Number : 74 Question Id : 413781374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

L % 230V

o, % 440 V
2« 1100 V

. ® 400 V

Question Number : 75 Question Id : 413781375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

RCCB is generally used for protection against:

Options:
1 % overcurrent

- w oOvervoltage

- % OVerpower

4 « carth leakage current
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Question Number : 76 Question Id : 413781376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who among the following won the Australian Open Badminton (Men’s Singles) Championship 20177

Options:
1 « Srikanth Kidambi

» s ChenLong

- % Lee Chong Wei

4 # Lin Dan

Question Number : 76 Question Id : 413781376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 77 Question Id : 413781377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Indian shooting squad finished at the position at the ISSF Junior World Championship 2017
held in Germany.

Options:



1 « second
> u first
3 % third

4 % fourth
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Single Line Question Option : No Option Orientation : Vertical

Who is the winner of Wimbledon 2017 men’s singles badminton cup?
Options:

,  Roger Federer

- % Marin Cilic

- % Andy Murray

4 = Novak Djokovic
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Question Number : 79 Question Id : 413781379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

According to the Second Advance estimates issued by the Central Statistics Office, the Real GDP at constant (2011-12)
prices grew at percent in 2016-17 over the previous year.

Options:
1 ¢ 7.1
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Who among the following formulates the monetary policy in India?
Options:
1 % The Finance Commission of India

> % IheNITI Aayog

3 « The Reserve Bank of India

5

4 % The Ministry of Statistics and Programme Implementation
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Question Number : 81 Question Id : 413781381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which Indian king was defeated in the Fourth Anglo-Mysore War in the year 17997
Options:
, « Tipu Sultan

- » Hyder Ali

- % Krishnaraja Wodeyar II

4 = Krishnaraja Wodeyar III
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Question Number : 82 Question Id : 413781382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who among the following was elected as the President of the Indian National Congress in the year 1938 and 1939?

Options:



1 + Subhas Chandra Bose

> » Bal Gangadhar Tilak
- » Gopal Krishna Gokhale

4 # Maulana Abul Kalam Azad
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Single Line Question Option : No Option Orientation : Vertical

With which Indian state is Moplah Peasant Rebellion of 1921 associated?
Options:
1 « Kerala

> % Rajasthan
- % Punjab

4 % QOdisha
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Which among the following Articles of the Indian Constitution deals with financial emergency?
Options:

1 « Article-360

> # Article-260

5 # Article-460

4 % Article-160
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‘Who among the following assumed office as the 14™ President of India on 25® July 20172

Options:
, w Sumitra Mahajan

> % Meira Kumar
= « Ram Nath Kovind

4 » Gopalkrishna Gandhi
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Which Article of the Constitution provides that there shall be a Council of Ministers with the Prime Minister
as its head?
Options:

|« Article 74(1)

-~ u Article 174(1)

5 % Article 17(1)

4 w Article 14(1)
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It starts at the Earth’s surface and extends 8 to 14.5 kilometers high (5 to 9 miles). This part of the atmosphere is the
densest. Almost all weather is in this region. Which layer is this?

Options:
, « Troposphere

> w Exosphere
5 » Stratosphere

4 w Thermosphere
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What is the mineral name of common salt (table salt or rock salt)?

Options:
1 « Halite
> % Hematite

% % Limonite

4 # Siderite
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Select the industry in which goods are produced in the home of the producer.
Options:

, « Cottage industry

- % Secondary industry
5 » Large-scale industry

4 % Quaternary industry
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Which city has become India’s first World Heritage City chosen by UNESCO’s world heritage committee?

Options:
1 « Ahmedabad

- % Delhi



= % Mumbai

4 % Punjab
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Who took charge recently as the new Chief Election Commissioner?
Options:

| « Achal Kumar Jyoti

> % Nasim Zaidi
=z % H.S.Brahma

4 # V.S.Sampath
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Which of the following cities is scheduled to host the 2020 Olympic Games?
Options:
. « Tokyo

> # Istanbul
z % Madrid

4 » Beijing
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Select the Buddhist monument built by Emperor Ashoka in Madhya Pradesh to honor Lord Buddha.
Options:
| « Sanchi Stupa

> % Dhamek Stupa

- » Bavikonda Stupa

4 % Mahabodhi Stupa
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The navy blue wheel (Ashoka chakra) has been inspired by which of the following monuments?

Options:
, = Raja’s Chhatri near Bordha Ghat at Burhanpur
- % The Iron Pillar at Qutb Minar in Delhi

5 The Lion Capital of Ashoka at Sarnath

4, % Sanchi Stupa, Madhya Pradesh
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Which among the following buildings was constructed to let the ladies of the roval household observe the daily hustle
bustle of the city life without been seen by the rest of the public?

Options:

1 % Jantar Mantar



> « Hawa Mahal
= % Nathmal Ki Haveli

4 % Umaid Bhawan
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‘Which state was conferred with the award of excellence at the second “Global Skill Development Summit™ held in Paris
for innovations and extensive use of IT for skilling the state’s youth?

Options:
1 # Maharashtra

Kerala

[
®

= % Goa

4 « Uttarakhand
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Single Line Question Option : No Option Orientation : Vertical

Select the new WHO Director-General from the following.

Options:

, « Tedros Adhanom Ghebreyesus

- w Margaret Chan

= % David Nabarro

4 % Sania Nishtar
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Who among the following appoint the Secretary-General of the United Nations Organization?

Options:

, = The President of the United Nations Security Council

-  United Nations General Assembly

= % The President of the USA

4 % The UN Trusteeship Council
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What is the lubricating fluid found between the two bones at a movable joint called?
Options:
| « Synovial fluid

> % Amniotic fluid
= % Interstitial fluid

, % Cerebrospinal fluid
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Light travels in vacuum or air, a distance of nearly metres in one second.



Options:
1 299,792 458 m/s

o % 199,792,458 m/s
499,792,458 m/s

599.792.458 m/s
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